20. If ZA lI"HI ZB are both in quadrant I, and

19
sin A==andcos B = % evaluate each
] i

of the following,
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Ch 6.4 Solving trig Equations with Trig Identities Day 2

Example: Solve the following for the indicated interval in
radians

A) cosx EG{E}—Siﬂ xsin(i] = E (all solutions)
5 ) 2 , .} p‘.[
etTx=
oy AcosB- sinA sinB = £ T .g
2 g "
Cos(A+B): 3
L

('.03(')(-1-'-!1“): N3
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5 D
12. If cos x = :{ and cos x = —% are
the solutions for a trigonometric
equation, what are the values of
B and C if the equation is of the
ftorm 9cos? x + Becosx + (=07

~ 2
Cosx= 3 124+ 2R+3Cz

9(2) +8(2)+ =0 @

St +28 40
I 3
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Methocl - werk &-W&rclg

Cosn= L CoSxr -4

3 3

3C03X =7 3cosx =
Scosx-2=0 3tesy +1=0

(3{@5%—?_Y’3 eosx +1) = O

T
qcos % t 3ot ~lcosr 220
Cjcm;\c —2¢os® <2=0
B=-3 C=-2



extand dxcheck NPV ) used Ident

17. Solve 4 sin* x = 3 tap: x — 1 ']'ﬂﬂg?_s_lﬂg
algebraically. Give the general cosP
solution expressed in r: ull ans. g) MU\H , wh,&m

]
LISIH»(:E Smy,-).., by <o5%x
CoStx R use 1dend
? ?
LIS'M X oS x = 331?‘\?'? -fﬂﬁl}: ilv;ﬁ*ﬂufﬂ«lf

2 Sine femg
L|$1"'| ‘:l( l“S\ﬂi‘x\ = 38m x— (1- Smle

Ham x- "lSm x = 35" X ~] + Sinx
O=Yan'x —|
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CoSR =+

" TF;E + 7Tk
3T "
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nere k...
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Extend Huse nO-Sm®
| . L | CosB

17. Solve 4 sin* x = 3 tan®* x — 1

algebraically. Give the general % N V

solution t*K[I['l!HHi![I In rni[_iunﬁ. C.ﬂS'XIi:D
Uty =3smix | A Mulk etch Yymw
Costx low cosly

v 1
Hat getdts < Dowie - o8 x

1 1
4SIT\1*£CD;£ ~Asm wtlos k= O 1
nse. oD+ Cos B )
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(A 1 vl 1
LISm % C0Y % -39?71 %1005 R = O
nse. S B+ s 0

S Q= I-~c 058
(4
L,(I-Ct‘.lﬁ x)(ﬁf)( - 3(’”{'651?%) 4,(»052}: =0

QC&;?C- Ll(ﬂ;fk -3+ 3 t‘,gst'ﬂhr fﬁﬁzk z 0
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Y
"L|C05 X «I-SCGSQU{ -270

Yeos ® — Feastx+ 370

1.3+ 3z & Quarfic ona
i ° Quadrat ¢

let A cosx
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